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| nEA=Y N 1,460 701 717 743
[ENS N 1,799 861 849 950
| AN NS 843 433 416 427
T iR i K 218 99 107 111
JNET AR 1,120 498 539 581
AR AR 1,066 472 512 554
bl AR 824 383 401 423
XY AR 792 405 371 4121
FLER AR 505 217 251 254
/NEF FnitE 545 255 265 280
FoiE FitE 1,096 438 538 558
FiE 4 e FitE 845 390 416 429
Fnsf e e FifE 522 230 248 274
FhiflE e FitE 530 272 232 298
FniEdb e FitE 1,107 487 549 558
0 =k Fif 2,006 911 944 1,062
SR FifE 233 105 114 119
fiEH —TH Fni 453 172 225 228
filiEEH —TH Fni 455 174 231 224
filEH=TH Fni 472 171 247 225
FH—TH /N 599 291 278 321
FH_TH /N 752 360 352 400
WME—TH /N 516 226 233 283
M5 _TH /N 561 272 249 312
KH—TH /N 845 409 393 452
KHZTH /NP 957 470 451 506
#1150y Bl 40 20 22 18
B)IA Dy Bl 20 14 10 10
B[R Bl 28 14 14 14
EEZ L) =) 38 23 16 22
)1 Bl 17 8 9 g
=) g/ AT = 30 17 12 18
=) EFT =) 23 11 11 12
)11y Bl 29 19 15 14
& ST £ HT F&ESL 171 79 79 92
(AR VA4 SRE ] Ak YA 214 91 107 107
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[ oL LT L 56 24 28 28
[ AL T s 97 49 43 54
GHEST FAEHIET (Cik YA 323 205 197 126
A LR ERT EARAYA 411 184 203 208
{525 7 1 HEHENT s 123 56 54 69
G L T RESERT (Cik YA 412 220 209 203
[ ST s 132 65 58 74
LWEEDK (Cik YA 888 2717 448 440
VORI A sy 107 50 52 55
ELEFSE T =P 29 12 13 16
B 1 R B 199 66 88 111
ai—T1H B 1,389 604 681 708
g% TH B 1,160 527 561 599
VOB =T B sy 67 32 33 34
a0 H B 366 177 187 179
%A H B 2,005 8717 975 1,030
B XTH B 944 339 450 494
BIpE—TH By 424 196 195 229
VOB — T sy 14 7 4 10
BEIPEMR=TH By 58 49 17 41
B KEF—TH By 624 284 319 305
EE A T B sy 14 6 8 6
BIZL =ik 419 189 194 225
ESal] Bk 1,064 676 537 527
AE AT Bk 559 254 247 312
18 AT =il 1,039 453 506 533
(AL =ik 756 341 366 390
Izl =ik 1,016 455 484 532
FRHT =ik 1,231 545 585 646
EXH—T H 2 2,288 961 1,130 1,158
H_TH FXH 91 72 53 38
AKEH—TH FX 1,143 549 540 603
AREEH T H EX 1,146 506 553 593
AEH=TH EX 1,476 732 689 787
AEHMNTH EX 2,240 1,071 1,079 1,161
AKEHATH X 1,013 499 476 537
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AREHANTH BX 2,583 1,009 1,261 1,322
KIN—TH EX 1,215 568 616 599
KINZTH H2 38 23 21 17
KIN=TH H2 377 192 186 191
SEH—TH H2 577 247 280 297
AW TH H2 2,796 1,403 1,372 1,424
SEH=TH H2 580 286 294 286
MWAZTH [N 710 322 332 378
MMAR=TH AR 169 74 88 81
PARMNT H A 344 144 170 174
MAHTH fIpAR 260 107 118 142
IARNRT H A 321 139 154 167
PA LT H e 60 24 34 26
MAROE—TH AR E 723 326 364 359
MAOE—TH AR E 551 233 261 290
MAOE=TH AR E 410 185 201 209
MAROEMTH AR HE 1,204 475 582 622
MAOEFETH MARDE 341 151 161 180
PMAROEISTH A D B 599 270 288 311
MAOEETH MARDE 704 287 341 363
~KJI—TH IMARDEH 406 149 200 206
KIIZTH IMARDEH 1,034 456 489 545
MADEK—TH IMARDEH 1,041 375 527 514
MADEK T H IMARDEH 943 321 457 486
MADEK=TH MARDEE 242 104 116 126
AIAOE AT AADE I 18 18 7 11
MAROBREFHT B PARD BT 677 292 326 351
IMARDOBRE ST B PARD BT 458 200 228 230
MAOBEE LT B PARD BT 965 397 460 505
FADEANT AADE I 718 315 357 361
HEEE =T I WADE & 245 84 132 113
WeELL T A (A D 326 128 146 180
HEEEL T A IR E i 1,501 598 751 750
T A prpe: 354 178 170 184
W= T A prpe: 392 191 192 200
HWE=TH HEEE 840 357 389 451
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WEE T B e 306 113 148 158
WERTH R 943 411 459 484
HEZOSTH HE=E 1,391 664 635 756
ez —T 8 HE=E 540 232 266 274
HEEELL T i 14 11 g 6
TH—TH A 232 111 106 126
TH - TH i 41 27 22 19
TH=TH i 51 25 24 27
mE—TH HE=E 202 98 108 94
mE_TH HE=E 929 534 466 463
HFE= T B i 50 40 34 16
HEG—TH =) 897 428 411 486
4 TH i 881 421 420 461
HH5=TH =) 977 456 465 512
HESBWTHE =& 791 392 371 420
SUAANT ik 11 i1 9 2
BA—TH PR 1,126 532 533 593
WAZTH PR 1,429 606 656 773
WA=TH PR 3,124 1,282 1,456 1,668
WAMTH PA 520 252 248 272
AT T R ik 610 343 285 325
WAIKRTH PR 1,506 726 731 775
BAETH PR 1,860 908 906 954
WANTH PA 781 398 352 429
RO it BT TRA 883 431 419 464
THRA—TH TRA 1,440 627 723 717
THRAZTH TRA 1,170 461 592 578
THRA=TH T BRA 1,801 647 897 904
FHAN T H ThA 867 385 411 456
THRAHRTH T BRA 1,434 585 725 709
TRAARTH TRA 2,230 920 1,066 1,164
thaE—TH T BRA 1,251 514 628 623
tegt —TH TRA 764 398 357 407
WAs—TH FE I 107 67 38 69
fER—TH FE IR 1,638 791 789 849
fE T H R 904 416 413 491
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(ERSEIANRRENID | sy A 4 B Lt
fEiR =T H JE I 1,078 572 480 598
FEIRTDY T H FE IR 844 364 413 431
YRAEIT JEIRF 795 329 374 421
ANK—TH FE IR 562 2717 275 287
AKX _TH JEIRF 753 384 364 389
AK=ZTH JEIRF 355 172 174 181
THRA—TH JEIRF 321 121 157 164
WEE—TH FE IR 838 407 379 459
WEE T TH JEIRF 685 317 332 353
WEE-TH FE IR 526 259 264 262
BT H FE Wy 1,151 456 565 586
AAt—TH FE Wy 719 341 329 390
At —TH JEIRF 869 390 383 486
B)I—TH FE Wy 182 155 122 60
I TH FE Wy 949 451 463 486
BJI=TH FE W 855 445 408 447
M T H JE I 631 258 309 322
B FalT JE IR} 1,024 444 484 540
AT I 829 449 400 429
BRE—TH Ay 1,162 629 554 608
PSR —T H Ay 878 469 386 492
BAEFET T H Ay 1,587 716 729 858
#hfk— T H Ay 889 465 434 455
ik — T H Ay 676 331 327 349
k=T H A 724 355 351 373
N/ oy 413 194 185 228
W73k oy 1,302 636 607 695
Hepger T Py 241 126 102 139
MAEE—TH W 658 312 320 338
MEETH Py 560 285 266 294
MEE=TH Py 1,118 490 512 606
HHEMTH sy 821 363 400 421
R RbHT g 528 256 241 287
AE—TH iy 117 73 53 64
B — T H W 630 246 317 313
T H P 870 392 413 457
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mi—TH WA 861 360 415 446
BI=TH W 927 425 446 481
B A 828 402 380 448
St kT WA 9 5 4 5
P BT A X X X X
ALy W 876 395 412 464
Ta6 A 270 128 136 134
(Li T LA 119 59 54 65
HWACE—TH L A 711 342 318 393
HACE T H L1 AR 914 432 441 473
A =T H L AT 948 471 477 471
RATHT i3 346 188 160 186
i 5y HT . 599 321 295 304
Ji 2. BLHT i3 676 382 336 340
ESE . 1,008 477 495 513
AT i3 808 398 396 412
BAR—TH R 579 329 283 296
PR T H 32 893 429 429 464
BN EZTH R 2,864 1,334 1,313 1,551
B RE= T H R 548 291 232 316
ZaN Bl L 585 310 283 302
g <7 T K% 38 20 18 20
(L1 T R 919 420 453 466
ey B 393 200 189 204
AL R 892 420 448 444
AL R 2,093 1,030 960 1,133
T R 129 90 87 42
BREEZTH k% 150 84 73 77
BREE=TH k% 1,135 543 532 603
1 RHEDY T H E% 235 148 103 132
E%-TH R 192 89 88 104
R%_TH R 805 499 348 457
R%=TH R4 549 3217 276 273
/BT B 270 129 129 141
SRR R4 647 309 282 365
e L BHHT R4 28 27 7 21
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(%fu5$9ﬂ£gﬁﬁ EXCYNED) B2 T an 5, e
fEtk—T H I 476 203 237 239
bk — T H I 69 42 32 37
EN) W 309 139 143 166
A HHT W 1,062 472 459 603
==Y W 503 309 235 268
ER—TH W 874 464 414 460
ER T H W 380 200 174 206
FLoit W 123 73 57 66
HEPB W 212 102 101 111
HHAE—TH W 1,904 873 884 1,020
HIHAE T H W 636 290 292 344
AE—TH W 49 24 23 26
AE_TH W 1,743 868 849 894
ERETH GiES 35 30 14 21
EREM T H gk 687 324 325 362
HR—TH ok 935 498 460 475
T H ok 687 360 332 355
PR =TH gk 657 322 285 372
gy T A g 1,781 777 855 926
HE—TH g 780 367 356 424
HETTH g 309 153 138 171
AT =T H g 169 122 80 89
N g 197 107 91 106
B OB gk 410 233 205 205
I g 165 81 75 90
ERHE—T H gk 92 74 43 49
WAZTH GRS 22 11 11 11
A= _TH T2y 830 383 385 445
PEDLE DA 1,059 478 486 573
5% —TH T2y 429 212 207 222
E%_TH T2y 593 266 286 307
EH=TH 27 1,134 532 516 618
foH T 723 293 329 394
% F-# 643 287 299 344
WmA—TH P 186 94 82 104
MAZTH Ty 662 282 312 350
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It SEEP 1,521 694 685 836
mMNE i 2,114 976 986 1,128
WZBDiE—TH SEEP 656 296 306 350
B TH SEEP 2,520 1,185 1,136 1,384
B =TH SEEP 1,968 827 944 1,024
WZCBOEMNT H SEEP 1,409 541 696 713
A9 SEEP 897 391 436 461
oo H SEEP 1,554 530 776 778
D &P 161 87 78 83
AR THT &P 1,005 527 477 528
AT HEPT 378 198 184 194
FRARHT HEPT 116 60 57 59
WEpi— T H HEPT 1,113 522 524 589
BEpr—TH HEPT 429 220 205 224
HDNHT HEPT 1,028 540 502 526
ASLHT HEPT 1,423 913 611 812
FE—TH HEPT 1,789 830 836 953
FE_TH HEPT 1,095 506 548 547
R Bt 832 446 382 450
< JRHT =35 1,165 519 575 590
BlfR—TH HEPT 767 359 347 420
BR—TH REPT 571 273 2717 294
BR=TH HEPT 732 317 346 386
WA [T 2,018 898 984 1,034
ISR REPT 513 238 253 260
k& FT ./ PN HT REPT 33 16 17 16
LT H Bt 179 101 91 88
ISR [EEs7) 2,051 865 1,028 1,023
BERA [EEs7) 3,297 1,441 1,576 1,721
T FT T s 37 18 17 20
L EEN 1,532 715 766 766
EHEL_=TH EEs) 1,070 416 608 462
L= T HtR X X X X
ESl5L) EEs7) 216 84 107 109
IERE=TH RN 642 288 297 345
AT T 947 509 461 486
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(ERSEIANRRENID | sy Ar e Bk Lt
SEHLRT . 868 453 412 456
SHT I J 1,251 624 582 669
) 1T I f 918 426 418 500
FERGHT I 2,387 1,070 1,153 1,234
AR¥E—TH I f 677 375 339 338
AR¥E_TH I f 1,011 467 524 487
FH I BT i 908 452 411 497
JEAS HT % fal 209 113 91 118
LT W 36 36 29 7
HiE— 1 H I f 385 216 195 190
HFE T H I f 135 55 67 68
A I f 1,173 548 549 624
En—TH I f 4,206 1,845 2,020 2,186
En_TH T 1,984 870 971 1,013
IEXRE=TH T i 533 256 261 272
A L =FiA BT A 21 15 10 11
R S X X X X
KF—TH A 1,300 711 615 685
KE_TH A1 2,269 1,237 1,093 1,176
AlsF—TH A 61 28 26 35
HISF_TH A 1,026 451 483 543
ALSF=TH A 1,078 478 510 568
ALSFIU T H A 803 325 418 385
HIUFAETH il 551 256 282 269
FEE—TH A 1,739 818 834 905
FHTTH A 1,266 602 596 670
TRERT [E2pild 1,086 495 528 558
UL o 78 73 37 41
5 AT o 4 3 3 :
Py o 25 12 11 14
5 AT o 62 29 31 31
TH—TH [E2pild 1,509 643 728 781
TH —TH I 820 369 378 442
FHT=TH I 140 63 68 72
O T o 21 12 g 13
P (LT FA I 573 174 284 289
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FR— T H P 828 402 388 440
PR T H P 1,723 765 817 906
=T H P 45 116 62 44 72
FEARIY T H A% 1,219 530 587 632
PR T H A% 1,102 469 539 563
FEAB AN T H 5a/i) 171 87 74 97
R A1 R ST KA 4 4 4 0
KABEH—TH KA 9 5 4 5
RAEKR_TH KA 12 30 37 35
KABHK=TH KA 6 5 4 2
KAEHF T H KA 14 6 9 5
RA/AEE—TH KA 70 35 35 35
RA/HEE T H KA 29 13 16 13
KA —TH KA 70 33 32 38
KAKEM T H KA 42 22 18 24
KRAOgEM=TH KA 75 29 41 34
RAEEMMTH KA X X X X
KRAEEMILTH KA 28 13 14 14
KAKEMATH KA 35 17 17 18
KAwE—TH KA 25 10 11 14
KAE_TH KA 30 17 16 14
KRAE=TH KA 124 54 62 62
KAEH—TH KA 107 61 57 50
KAFZTH KA 117 46 55 62
KAT=TH KA 83 39 41 42
KAPT A KA 443 167 219 224
KAPHT A KA 944 348 476 468
RKEFARTH KA 8 8 8 0
KAEPETH KA 143 48 76 67
KAR—TH KA 136 60 60 76
KAKRZTH KA 73 31 37 36
KAKR=TH KA 156 71 71 85
KRAFMT A KA 577 270 276 301
KRAKRET A KA 721 336 355 366
KAKST A KA 313 124 161 152
KAKRETH KA 40 18 18 22




BRI - T RIADMRETR
CHSITZIN)

(BF54E9 A0 HAEA D) .
T4, XA FR AR
— iR B
g)II—TH XA - -
KAEJII_TH KA = !
KAEI=TH KA . 12 T 1
KAEEJMNTH KA " - o s
PEETH H - " 8 6 i
PIEE=TH H - = 22 ™ 25
H 2 i
#_TH M k= L 19 r i
HF=TH 76 8
_ 30 :
e 111 -
4 . 3 37
5 . pr 48
H=TH 2 s
i 3 51
BT H = o
_ 142 o
B—TEH ol 05
I 726 176
HoTH il & ° b g
HETH i:iS o8 ; k E
= = :
_ 277 °
BHTH A . 2 S >
HARTH o 6
- 303 !
BETH M k= o — sz i
AlE—TH M e 28 o 2
HIE=TH HE 2 2 5 i
fE—TH - = 7 z 7
=T H = 0
T - 379 1
fEE=TH Mk o 265 20 21
FaEtlu T H H 2 280 AT 0
HHE—TH 2 .
e < 300
HAETTH 22 1
= oL 117 X
HEe=TH 2 T
oL 274 118
HEHTH = T
: e i e o 305
+—TH M k= : i’
K+-TH = 3
| oL 32 2
BHE—TH EE - 2 : i
T i o o 25 31
BME=TH HE > 26 2 ©
BRI T H H e 178 o v
i
135

11
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BT T B RS 39 13 23 16
BHES T H Mk 810 362 396 414
PE—TH R 157 75 76 81
W—TH R 323 130 146 177
W_TH R 32 12 13 19
W=TH R 3 3 3 0
VB —TH R 261 117 124 137
FEFTH R 45 26 21 24
HhEF—T H R 287 125 132 155
HE T H R 21 8 10 11
e =T H @k 33 15 16 17
ZHR—TH @k 160 85 86 74
H—TH @k 169 74 79 90
BT H @k 40 17 21 19
#ie— 1T H @k 16 7 8 8
#e T H @k 145 59 69 76
KSE @k 159 72 79 80
HIL—TH =il 592 246 288 304
HIL-TH =il 560 205 265 295
HIL=TH 1 663 244 327 336
HILUTH =il 654 278 319 335
HILFTH =il 381 155 183 198
HILATH 1 733 260 351 382
HLETH 1 729 262 356 373
HIWNTH I 1,152 362 566 586
WmAE—TH Il 649 209 338 311
WmAE_TH il 636 195 313 323
WMAE=TH Il 726 205 367 359
WMAEMNTH Il 400 106 200 200
WMAEETH Il 1,038 286 526 512
WMAEATH Il 299 171 173 126
mAEtETH HIl 735 216 370 365
- _EHAZERT #H X X X X
WA—TH #H 470 210 209 261
M4 TH #H 294 123 147 147
HilE=TH #H 62 30 31 31
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e} i 40 27 22 8
KiIL—TH THH 2,452 798 1,211 1,241
KIL_TH T H 1,585 729 775 810
KIL=TH T H 1,423 667 702 721
KILMW T B T H 1,712 764 825 887
KILFHT H T H 2,642 1,135 1,307 1,335
KILANTH T H 2,545 969 1,222 1,323
KLt T H T H 1,485 701 760 725
KILNT H T H 501 252 274 227
Kt T H i 41 36 20 21
—HIUETH WE H 511 153 247 264
W T T X X X X
WHH—TH A M R 1,201 542 569 632
T 1 830 435 385 445
WHH=TH A M R 1,757 756 850 907
T 1 228 134 04 134
WHHEFATH A M R 1,285 647 632 653
WHHOS T H WA MR 102 50 45 57
iE— T i 514 264 249 265
T H WA MR 2,278 1,017 1,099 1,179
e =TH WA MR 826 395 385 441
FE—TH WA MR 1,386 599 683 703
FE_TH WA MR 1,310 579 618 692
= KF WA MR 965 565 421 544
Bkl WA MR 718 291 355 363
KILZTH WA ES 278 147 139 139
KIL=TH WA ES 406 207 182 224
*EV‘EIET H WA ES 66 22 33 33
G — WA ES 95 34 48 47
A FE'#TH WA ES 321 110 164 157
k= WA ES 506 167 252 254
i Wi 190 57 % %
KLU T B EES 30 19 12 18
—HB|I—TH A B 1,879 980 892 987
—BII-TH T FH B 1,268 588 597 671
—HILU=TH EES 1,812 865 891 921
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—HUWNTH T FH B 2,338 1,081 1,127 1,211
—HILUKhTH T R 1,861 891 885 976
Aim—TH R 162 132 95 67
A —TH R 1,111 464 542 569
A#—=TH R 2,747 1,113 1,393 1,354
ZEARHT R 345 144 165 180
—HIIRTH R 599 221 305 294
Atwik T B R 595 257 275 320
Am AT H R 738 327 346 392
K&E— T H WAL 1,964 1,186 961 1,003
= _1H WA 1,840 896 906 934
w—-1TH W A 1,337 650 669 668
K=EMTH W A 1,466 627 738 728
Kef ] H WHH AL 2,623 947 1,281 1,342
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